
Course 1 • Chapter 6  Expressions 

NAME __________________________________________   DATE ____________  PERIOD _______  
 

Lesson 5 Extra Practice 

Algebra: Properties 

Determine whether the two expressions are equivalent. If so, tell what 
property is applied. If not, explain why. 

 1. 7 • (3 • 2) and (7 • 3) • 2  yes; Associative Property 
 
 
 
 2. 16  8 and 8  16  no; Division is not commutative. 
 
 
 
 3. 27 • 1 and 1  no; 27 · 1 is 27 by the Identity Property. 
 
 
 
 4. 16 + 0 and 16  yes; Identity Property of Addition 
 
 
 
 5. 12  (5  2) and (12  5)  2  no; Subtraction is not associative. 
 
 
 
 6. 14 and 1 • 14  yes; Identity Property of Multiplication 
 
 
 
 7. 32 + 4 and 4 + 32  yes; Commutative Property 
 
 
 
 8. 40  (8  2) and (40  8)  2 no; Division is not associative. 


